SplashLearn

Multi-Step Word Problems

Solve the problems step by step to find the answer.

Peter has 12 marbles. His friend gave him 20 more marbles.
He wants to put the marbles in 4 boxes equally.
How many marbles will be there in each box?

Total marbles with Peter: + =

Marbles in each box: = =

Cindy has 64 candies. She keeps 10 candies with herself and distributes the
rest between her 9 friends equally.
How many candies will each friend get?

Candies distributed among friends: - =

Candies each friend will get: + =

Andrew has 4 packs with 6 cupcakes in each pack.
He wants to arrange the cupcakes in an array of 8 rows.
How many cupcakes will be there in each row?

Cupcakes with Andrew: X =

Cupcakes in each row: = =




